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ECONOMICS - (Part-H)

®06 0600060 ®*OOO OO0 (Fresh | New Coursa)
IONOMONO OO, ON JROMONONO
(ONONONONONO! ©©C O O O G Total Time: 3hrs > Total Marks:100
OMONOMONONO) (IOONONOMONO!
® 66 6 ®_ © ©0O6060e * Signature of Supdt.
ONONONONONO! .0 0 & ®© @
® ® ® ®
® 0066 ® ® OOONONOIRO;
Time: 20min “SECTION - A” : ’ Marks: 20

NOTE: Use Black/l]lue marker for shadlng only onc bubble for each question. No mark will be awarded for Cutﬂng,
) erasing, uverwrllhlg, and multiple ubble shadlng.
Q.1 Clmuse the correCt opton Le. ABC, and I

J - arenpt'counted in Natiotal Income, - _
@ Wages i ile_nt . @ Interest ®  Scholarships
il Net National Product Is equak to GNP ......... e ' :
Tax Depreciation ' Services Salaries
® ® allgwance ® ®©
ili.  1fan Individual's monthly income Is Rs. 1000/- and he saves Rs. 200/- from It, this represents ...
® MPs & ® MPC _ ® ArC ® APS
V. e 18 D0t the disadvintage of barter system.
Difficulty in store of Divislbility of small Problem in loan No savings
® value v ® parts v ® ® &
Vo is quality of good money. .
Paper form Cash form General With busingss man.
® P ® ) © acceptability © ’
vi. Having cash money for unforeseen events represents ......& e "
®  Income motive (&  Precuutionary motive @, fTransactivemotive ()  Business motlve
vii.  Bank pays ..eoceimn. interest an current accounts.
@® Lowrate @ Highrate ® Proportional rate © Zero
vili.  Re-discounting bill of exchange is function of .. venenss Bank.
®  Central @ Commoes cial ®  Industrial © Saving
| defined cannons of taxation. .
&  Ricardo @  Marshall ©  Adam Smith @ Malthus
% Objective of monetary policy is v ...eeeeervernn, in the economy. . :
' Tolevy taxes Maintaining full Giving loans Preparing budget
® ¢ @ employmeEt ) ® & . ® perine it
xi.  Tomake the BOP favorable,........... shauld be Increases.
®  Imports Exports &  Curreny @ Employment
Rl s FEpresents the export & [mports of normal goods and services, _
(&  Capital account Motey account (© Tradeaccount ©  Currentaccount
xitl.  Share of agriculture sector In GDP of Pakistan IS ... eeeeionne
® 5% ® 80% ©® 22% ® -10%
Xiv.  Anindustry operated by o household, producing guods Is Known as ... ndustry,
@® - Government ®  Cottage ®  National ® largescale
®v.  Anincrease o the amount of capltal goods is KNowWN 85 v ueeenrnie
@ " Investment ®  DBuslness G Capital formation @  Human capltal
Al e does not affect econemic development of a country.
@ Natlonal resources @®  Politlcal issues ©  Soclalevlls & Language
xvil,  Working of a labour below its capablliy is Known as ...
Unemplo L e
® . ployment ® Under employment ® E:;g;:;zc; et ® infnzg?:yment
¥Vl e IS3UICS CUrrency notes in Paklstan,
' ®  StateBank @®  Government @  Natlonal Dank ®  Mizan Bank
xlx.  Zakat paid on agricultural production [s Known 88 ....evrvuenes .
@  fax @ Bountles @  Usher ®  Sadaga
W s 18 10 the characteristic of Islamic Economlic System,
Differentiation Right of private [nterest Lust for money
®  between Just & @  ownersulp ' ® ‘ ®
‘unlawful ~
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ECONGMICS - (Part-)
- (Fresh / New Course) :
Time Allowed: 2:40 Hrs Section~B&C - Total Marks: 80
“Sectlon - B” Marks: 50

Q.2 Write short answer of any TEN of the following parts, Each part carries equal marks.
()  Define economic problem.
()  Write down Alfred Marshal definition of economics.
(I} What ts meant by normative science?
{v¥) Inconsumer behavlor, what is meant by ‘Ratlonahty‘?
(v  Define law of equl-marginal utility.
(v) Define index number. ~
(V) Define movement along the demand curve.
(vl) What is the difference between supply and stqdf?
(ix} Define ‘equilibrium price’.
(X} Whatis ‘production function’?
{6} Deflne Firm's Revenue.
(xl} Define perfect competition market,
{xli} Define the concept of ‘Interest’,

“Sectlon - ¢” Marks: 30
NOTE: Attempt any THRER questlons, Each question carries equal marks,

Q.3: Write down the comparative analysts ofeconomlcs definition given by Prof. Alfred
Marshall and Robbins,

Qs Solve the following equations: )x® — 8x + 15 = 0 i} fgﬁ’; gg-;—:—g
Q.5:  Explain diagrammatically the market equlllbrlum with the help of demand and supply curve,
Q.60 Discuss in detail the advantages & disadvantages of large scale production,

Q.7: + Explain diagrammatica}ly_ equilibslum of the firm under monopoly,
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